
Soleions 
Spring 2025 MATH IA 

Exercises: 

Worksheet: Wednesday 3/5 

1. Compute the derivative of the following functions: 

(a) f(0) = 2 sec - csc 

(b) g() 1-sec(z) 
tan(z) 

Sínk) 
(c) h(z) = etan(z) 

(d) f() = ya+ sin(z)es (x) 

(e) flp) = cOs p/(1 -

(h) g(z) = cot(z) cos (z) 

(e) o2) = (e+ ee-lyo g': 3(x4 er)2(2x+ 2e) 

() h(y) = (3a5 + elr + z' tan(z)12 + 2r) 

() h(¢) = 2Vsin(2) 

934 

e'le) -2sec (Q) tan() +S( (o) Cot (e) 

W(rl:etantsec?(x) 

A 9le) =sin° (exp(sin°(2)) 

1+sin y 

-Sig3 (x) - (cos( x7 -Dcosx) 

Sialx) 

gle)= 
Wl 2 

fla) = yatyzt v� 

glu)=V iroay 

2%+ coslre 5rle 
22 + inlxle 

xtsecta) + 

Siale)(3es2)-S2)- cos(a) 
Sia2(3) 

Costy) 



dt 
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h() = sin 

2. Find the first and second derivatives of: 

(a) f(z)=1-3r+ 162 

er/e* csc(T)a4/5 

tan? (12 sin( Vltv) 

(b) f(r) = vF+F P(l: 3 

(c) gly) =3e� 5y 

(2sin ()e 

3. Suppose f() = sin" (z)e and z(t) = Vt/t. Find f' () and z'(t). Find 

df 
dt 

3ek 

d (a(t). 

4. Find the 13th derivative of f(z) = cos (2z). Find the 5ttderivative of 

Sorry! 

5, For which values of r does y(z) = er" solve the following differential equation? 

y-4y' + 3y =0 

,n 4 re 3e r = 

l) V- 3, V:) 
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